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y=Inx x+y=1
f'(e)=xe™* f@=0 f(x)=

L x2+y?=2 ILxdy—Zydx
2
ng—xz+4x%+2y:0(x>0)
2 1 0O
A=H 2 o B ABA =2BA+E AA
B 0 1H
B|=
X A P{x>/D(X)} = .
8 4 32
X 2 Vx
X - 0" G=Iocost2dt ﬁzﬁ tan+/tdt y:J;) sint3dt
A a By B)a y B © B a vy DB a vy
f(X) f'(0)>0 o0>0
(A) f(x) (09) B) f(x (-9,0
(€) x0(0,0) f()>f(0) (D) x0(=5,0)  f(x) > f(0)
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(B) A limna, =A a

n- o

(©) a, limn?a, =0
n=1 n-e
(D) S a, A limna, =A
n=1 n-e
@ F(t) = JidyI;f(x)dx Fo ()
(A) 2f(2) ® f(2 © -1 (D)0
G A A1 2 B B 2 3
C AQ=C Q ( )
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(A) u, (B) U a C) up, (D) u,
2 3 =
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) Xy, X, ) X, (1) 02>0. Y—E;Xi
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0.2
(A) cov(Xl,Y):T (B) cov(X,,Y)=0?
©) D(X1+Y)=n:202 (D) D(Xl—Y)=nT+laz
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e<a<b<e® In2b-In2a> - (b-a).
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x"+nx-1=0, n
n=1
O ( 12 )
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O
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a
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_o ad
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z=2(xy)
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